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Instructions

(a) This assignment has 4 pages.

(b) (1 pt) Hard-copies are distributed in class. Original pdf file can be downloaded from the
course website. Work and write your answers directly on the provided hardcopy/file
(not on other blank sheet(s) of paper).

(c) (1 pt) Write your first name and the last three digits of your student ID in the spaces
provided on the upper-right corner of this page. Furthermore, for online submission,
your file name should start with your 10-digit student ID, followed by a space, the
course code, a space, and the assignment number: “5565242231 315 HW4.pdf”

(d) (8 pt) Try to solve all non-optional problems.

(e) Late submission will be heavily penalized.

Problem 1. Series Circuit: The circuit in Figure 5.1 operates only if there is a path of
functional devices from left to right. The probability that each device functions is shown on
the graph. Assume that devices fail independently. What is the probability that the circuit
operates? [Montgomery and Runger, 2010, Ex. 2-32]
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This definition is typically used to calculate the probability that several events occur assuming
that they are independent and the individual event probabilities are known. The knowledge
that the events are independent usually comes from a fundamental understanding of the
random experiment.

When considering three or more events, we can extend the definition of independence
with the following general result.

The events E1, E2 are independent if and only if for any subset of these
events 

(2-14)P1Ei1 ¨ Ei2 ¨ p ¨ Eik2 � P1Ei12 � P1Ei22 � p � P1Eik2

Ei1, Ei2, p , Eik,
, p , En

Independence
(multiple events)

EXAMPLE 2-32 Series Circuit
The following circuit operates only if there is a path of func-
tional devices from left to right. The probability that each de-
vice functions is shown on the graph. Assume that devices fail
independently. What is the probability that the circuit operates?

Let L and R denote the events that the left and right devices
operate, respectively. There is only a path if both operate. The

0.8 0.9

probability the circuit operates is

Practical Interpretation: Notice that the probability that the
circuit operates degrades to approximately 0.5 when all devices
are required to be functional. The probability each device is func-
tional needs to be large for a circuit to operate when many devices
are connected in series.

P1L and R2 � P1L ¨ R2 � P1L2P1R2 � 0.8010.902 � 0.72

EXAMPLE 2-33
Assume that the probability that a wafer contains a large par-
ticle of contamination is 0.01 and that the wafers are inde-
pendent; that is, the probability that a wafer contains a large
particle is not dependent on the characteristics of any of the
other wafers. If 15 wafers are analyzed, what is the probability
that no large particles are found?

Let Ei denote the event that the ith wafer contains no large
particles, Then, The probabilityP1Ei2 � 0.99.i � 1, 2, p , 15.

requested can be represented as From
the independence assumption and Equation 2-14,

� P1E152 � 0.9915 � 0.86
P1E1 ¨ E2 ¨  p ¨ E152 � P1E12 � P1E22 � p

P1E1 ¨ E2 ¨  
p ¨ E152.

EXAMPLE 2-34 Parallel Circuit
The following circuit operates only if there is a path of func-
tional devices from left to right. The probability that each de-
vice functions is shown on the graph. Assume that devices fail
independently. What is the probability that the circuit operates?

Let T and B denote the events that the top and bottom de-
vices operate, respectively. There is a path if at least one device
operates. The probability that the circuit operates is

0.95

0.95

a b

A simple formula for the solution can be derived from the
complements and From the independence assumption,

so

Practical Interpretation: Notice that the probability that the cir-
cuit operates is larger than the probability that either device is
functional. This is an advantage of a parallel architecture. A dis-
advantage is that multiple devices are needed.

P1T or B2 � 1 
 0.052 � 0.9975

P1T¿ and B¿ 2 � P1T¿ 2P1B¿ 2 � 11 
 0.9522 � 0.052

B¿.T¿

P1T or B2 � 1 
 P 3 1T or B2 ¿ 4 � 1 
 P1T¿ and B¿ 2
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Figure 5.1: Circuit for Problem 1

5-1



ECS 315 HW 5 — Due: Sep 26, 4 PM 2019/1

Problem 2. In an experiment, A, B, C, and D are events with probabilities P (A∪B) = 5
8
,

P (A) = 3
8
, P (C ∩D) = 1

3
, and P (C) = 1

2
. Furthermore, A and B are disjoint, while C and

D are independent.

(a) Find

(i) P (A ∩B)

(ii) P (B)

(iii) P (A ∩Bc)

(iv) P (A ∪Bc)

(b) Are A and B independent?

(c) Find

(i) P (D)

(ii) P (C ∩Dc)

(iii) P (Cc ∩Dc)

(iv) P (C|D)
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(v) P (C ∪D)

(vi) P (C ∪Dc)

(d) Are C and Dc independent?

Problem 3. You have two coins, a fair one with probability of heads 1
2

and an unfair one
with probability of heads 1

3
, but otherwise identical. A coin is selected at random and tossed,

falling heads up. How likely is it that it is the fair one? [Capinski and Zastawniak, 2003,
Q7.28]

Problem 4. You have three coins in your pocket, two fair ones but the third biased with
probability of heads p and tails 1−p. One coin selected at random drops to the floor, landing
heads up. How likely is it that it is one of the fair coins? [Capinski and Zastawniak, 2003,
Q7.29]
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Extra Questions

Here are some optional questions for those who want more practice.

Problem 5. In his book Chances: Risk and Odds in Everyday Life, James Burke says that
there is a 72% chance a polygraph test (lie detector test) will catch a person who is, in
fact, lying. Furthermore, there is approximately a 7% chance that the polygraph will falsely
accuse someone of lying. [Brase and Brase, 2011, Q4.2.26]

(a) If the polygraph indicated that 30% of the questions were answered with lies, what
would you estimate for the actual percentage of lies in the answers?

(b) If the polygraph indicated that 70% of the questions were answered with lies, what
would you estimate for the actual percentage of lies?

Problem 6. Software to detect fraud in consumer phone cards tracks the number of metropoli-
tan areas where calls originate each day. It is found that 1% of the legitimate users originate
calls from two or more metropolitan areas in a single day. However, 30% of fraudulent users
originate calls from two or more metropolitan areas in a single day. The proportion of fraud-
ulent users is 0.01%. If the same user originates calls from two or more metropolitan areas in
a single day, what is the probability that the user is fraudulent? [Montgomery and Runger,
2010, Q2-144]
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